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Introduction



Component 2: Depth Study


Component 2 involves the study of a significant period of historical change and development (around 20–25 years at AS and 40–50 years at A-level) and an evaluation of primary sources.


The Making of Modern Britain 1951–2007


The specification lists the content of this component in two parts, each part being divided into three sections:


Part 1 – Building a New Britain 1951–79





1  The Affluent Society 1951–1964



2  The Sixties 1964–1970



3  The end of the post-war consensus 1970–79





Part 2 – Modern Britain 1979–2007 (A-level only)





4  The impact of Thatcherism 1979–87



5  Towards a new consensus 1987–97



6  The era of New Labour 1997–2007





Although each period of study is set out in chronological sections in the specification, an exam question may arise from one or more of these sections.


The AS examination


The AS examination that you may be taking includes all the content in Part 1.


You are required to answer the following.





•  Section A: one question on two primary sources: which is the more valuable? You need to identify the arguments in each source as well as evaluating the provenance and tone. Using your knowledge in relation to these strands, you need to assess how valuable each source is, and then reach a judgement on which is the more valuable. The question is worth 25 marks.



•  Section B: one essay question out of two. The questions will be set on a topic reflecting the fact that this is a depth paper, and will require you to analyse whether you agree or disagree with a statement. Almost certainly, you will be doing both and reaching a balanced conclusion. The question is worth 25 marks.





The exam lasts one and a half hours, and you should spend about equal time on each section.


At AS, Component 2 will be worth a total of 50 marks and 50 per cent of the AS examination.


The A-level examination


The A-level examination at the end of the course includes all the content of Part 1 and Part 2.


You are required to answer the following:





•  Section A: one question on three primary sources: how valuable is each source? You are not required to reach a conclusion about which might be the most valuable. You need to identify the arguments in each source as well as evaluating the provenance and tone. Using your knowledge in relation to these strands, you need to assess how valuable each source is. This question is worth 30 marks.



•  Section B: two essay questions out of three. The questions will be set on a topic reflecting the fact that this is a depth paper. The question styles will vary but they will all require you to analyse factors and reach a conclusion. The focus may be on causation, or consequence, or continuity and change.





The exam lasts two and a half hours. You should spend about one hour on Section A and about 45 minutes on each of the two essays.


At A-level, Component 2 will be worth a total of 80 marks and 40 per cent of the A-level examination.


In both the AS and A-level examinations you are being tested on your ability to:





•  use relevant historical information (Sections A and B)



•  evaluate different historical interpretations (Section A)



•  skilfully analyse factors and reach a judgement (Section B).





How to use this book


This book has been designed to help you develop the knowledge and skills necessary to succeed in the examination.





•  The book is divided into six sections – one for each section of the A-level specification.



•  Each section is made up of a series of topics organised into double page spreads.



•  On the left-hand page you will find a summary of the key content you will need to learn. Words in bold in the key content are defined in the glossary (see pages 105–107).



•  On the right-hand page you will find exam-focused activities.





Together these two strands of the book will provide you with the knowledge and skills essential for examination success.
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Examination activities


There are three levels of exam-focused activities as follows.





•  Band 1 activities are designed to develop the foundation skills needed to pass the exam. These have a green heading and this symbol: [image: ]




•  Band 2 activities are designed to build on the skills developed in Band 1 activities and to help you to achieve a C grade. These have an orange heading and this symbol: [image: ]




•  Band 3 activities are designed to enable you to access the highest grades. These have a purple heading and this symbol: [image: ]






Some of the activities have answers or suggested answers on pages 109–111. These have the following symbol to indicate this: [image: ]


Each section ends with an exam-style question and sample answers with commentary. This will give you guidance on what is expected to achieve the top grade.


You can also keep track of your revision by ticking off each topic heading in the book, or by ticking the checklist on the contents page. Tick each box when you have:





•  revised and understood a topic



•  completed the activities.





Mark schemes


For some of the activities in the book it will be useful to refer to the mark schemes for this paper. Below are abbreviated forms.


Section A Primary sources






	
Level 

	AS-level exam

	A-level exam






	1

	Describing source content or stock phrases about value of source; limited understanding of context.

(1–5)



	Some comments on value of at least one source but limited response; limited understanding of context.

(1–6)








	2

	Some relevant comments on value of one source, or some general comments on both. Some understanding of context.

(6–10)



	Some relevant comments on value of one or two sources, or focus only on content or provenance, or consideration of all three sources in a more general way. Some understanding of context.

(7–12)








	3

	Some relevant comments on value of sources, and some explicit reference to focus of question, with some understanding of context. Judgements thinly supported.

(11–15)



	Some understanding of all three sources in relation to content and provenance with some awareness of historical context. An attempt to consider value, but probably some imbalance across the three sources.

(13–18)








	4

	Range of relevant well-supported comments on value of sources for issue identified in question. Not all comments will be well-substantiated, and will have limited judgements.

(16–20)



	Good understanding of three sources in relation to content and provenance with awareness of historical context to provide a balanced argument on their value in relation to focus of question. One or more judgements may be limited in substantiation.

(19–24)








	5

	Very good understanding of value of sources in relation to focus of question and contextual knowledge. Thorough evaluation, well-supported conclusion.

(21–25)



	Very good understanding of all three sources in relation to content and provenance and combines this with strong awareness of historical context to present balanced argument on their value in relation to focus of question.

(25–30)









Section B Essays






	
Level 

	AS-level exam

	A-level exam






	1

	Extremely limited or irrelevant information. Unsupported, vague or generalising comments.

(1–5)



	Extremely limited or irrelevant information. Unsupported, vague or generalising comments.

(1–5)








	2

	Descriptive or partial, failing to grasp full demands of question. Limited in scope.

(6–10)



	Descriptive or partial, failing to grasp full demands of question. Limited in scope.

(6–10)








	3

	Some understanding and answer is adequately organised. Information showing understanding of some key features.

(11–15)



	Understanding of question and a range of largely accurate information showing awareness of key issues and features, but lacking in precise detail. Some balance established.

(11–15)








	4

	Understanding shown with range of largely accurate information showing awareness of some of the key issues and features leading to a limited judgement.

(16–20)



	Good understanding of question. Well organised and effectively communicated with range of clear and specific supporting information showing good understanding of key features and issues, with some conceptual awareness.

(16–20)








	5

	Good understanding. Well organised and effectively communicated. Range of clear information showing good understanding and some conceptual awareness. Analytical in style, leading to a substantiated judgement.

(21–25)



	Very good understanding of full demands of question. Well organised and effectively delivered, with well-selected, precise supporting information. Fully analytical with balanced argument and well-substantiated judgement.

(21–25)












1 The Affluent Society 1951–64



Conservative governments and the reasons for political dominance


The Conservative Party won the 1951 election and remained in power until 1964.


Political leaders


The principal Conservative leaders were:





•  Winston Churchill (Prime Minister 1951–55). Britain’s famed wartime leader, he was 77 years old by 1951, and often ill. He was mainly a figurehead leader by this time.



•  Anthony Eden (Prime Minister 1955–57). He had been a long-serving Foreign Secretary. His premiership was cut short by the Suez Crisis (see page 18).



•  Harold Macmillan (Prime Minister 1957–63). Macmillan presided over a massive increase in prosperity in Britain.



•  Sir Alec Douglas-Home (Prime Minister 1963–64). Before he began to make his mark his government was defeated in the October 1964 election.





Domestic policies 1951–64


The Conservatives governed Britain between 1951 and 1964, but there was broad agreement between the three major parties. This was known as the post-war consensus.
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The post-war consensus





•  The importance of extensive welfare systems and the National Health Service ‘from the cradle to the grave’.



•  Intervention in the economy to ensure maximum growth, fair practices and full employment.



•  Foreign policy based on support for the USA and opposition to the USSR and Communism.



•  Independence for the colonies of the Empire.
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Conservative political dominance 1951–64


At the end of the 1951–64 Conservative governments, the Labour Party labelled the period as ‘13 wasted years’. Yet the Conservatives had retained popularity for thirteen years and Britain seemed more prosperous than ever before.


Reasons for Conservative success:





•  Economic policies seemed successful, with minimal unemployment and significant increases in the standard of living.



•  The Conservatives were associated with a new Elizabethan Age of optimism and prosperity headed by the young Queen Elizabeth II who had been crowned in 1953.



•  Britain still seemed a world power, with nuclear weapons and a commendable record in the Korean War.



•  The Conservatives maintained welfare spending, economic planning and policies to engender full employment.



•  Churchill’s government built 300,000 houses per year – although these were mainly for purchase rather than public sector housing.



•  Over 6,000 new schools were built and plans were made for a doubling of university places.



•  The first motorways were built with part of the M1 being opened in 1959.



•  Britain became an atomic power with the explosion of the first British atomic bomb in 1952.





The Conservatives won three elections, in 1951, 1955 and 1959.






	Year

	Conservative Party

	Labour Party

	Liberal Party

	Others






	1951

	321

	295

	6

	3






	1955

	344

	277

	6

	3






	1959

	365

	258

	6

	1







The Labour Party moreover was in some disarray.





•  The Party split during the 1950s, particularly in relation to defence spending. Many wanted more money spent on social welfare than defence. They opposed the development of nuclear weapons, which the leadership supported.



•  Labour faced problems beyond its control, for example its popular leader Hugh Gaitskell died suddenly in 1963.



•  The electorate was satisfied with Conservative rule, due to continuing prosperity, and many did not trust Labour to maintain it.
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[image: ] Spot the mistake      [image: ]


Below are a sample AS exam-style question and a paragraph written in answer to the question. Why does the paragraph not get high praise? What is wrong with the focus of the answer in the paragraph?




‘The Conservative governments between 1951 and 1964 maintained the post-war consensus.’ Explain why you agree or disagree with this statement.







[image: ]


The Conservative governments were very successful in following the post-war consensus. It was a period of full employment and the standards of living improved for most people. People felt optimism. Britain was still a world power as exemplified by its role in the Korean War and possession of nuclear weapons. The Prime Ministers were well respected and gave good leadership, especially Winston Churchill and Harold Macmillan. Churchill’s government built 300,000 houses per year, which significantly helped ease the post-war housing shortage.


[image: ]





[image: ]







[image: ]


[image: ] Complete the paragraph


Below are a sample exam-style question and a paragraph written in answer to the question.


The paragraph contains a point and specific examples but lacks a concluding analytical link back to the question. Complete the paragraph adding this link back to the question in the space provided.




How far was Conservative success in the 1950s elections a result of disarray within the Labour Party?







[image: ]


In the 1950s, the Labour Party was in some disarray. The party split during the 1950s, particularly in relation to defence spending. Many supporters would have preferred to see more money spent on social welfare than defence. Many opposed their own leadership over nuclear weapons. However, its leader, Hugh Gaitskell, was popular, although he died suddenly in 1963. Overall,


_________________________________________


_________________________________________
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Reasons for the Conservatives’ fall from power



Following their third victory in 1959, the Conservatives themselves were looking tired and out of touch.





•  The leadership was ageing and many thought it was too unrepresentative of the ‘New Britain’. They were almost exclusively born to wealth and privilege. There were no women in government or even younger men.



•  Satirists mocked the leading figures mercilessly. Political leaders were caricatured and often shown as ridiculous.



•  Various scandals in which establishment figures had been caught spying for the Soviet Union such as the Vassall Affair rocked the government. In January 1963 Kim Philby, a trusted MI6 agent, fled to the USSR. He had been passing on sensitive information for much of his career. Although most of the misdemeanours predated Macmillan’s government they inevitably reflected badly on it.



•  Macmillan had sacked most of his cabinet in the so-called ‘Night of the Long Knives’ in 1962 to try to introduce younger figures into government – but it simply gave the impression of disunity.



•  A series of sex and moral scandals, culminating in the Profumo Affair of 1963, undermined the government. John Profumo, Minister for War, admitted to lying about his affair with a much younger woman. The ensuing investigation implicated many senior establishment figures in disreputable activities and again, by implication, made the government look ridiculous.



•  Macmillan himself retired in 1963, to be replaced by Sir Alec Douglas-Home who had barely time to establish himself before a general election had to be called.
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Satire


The 1950s saw a general decline in deference, or respect offered to establishment figures simply because of who they were. University students had set up satirical reviews such as ‘Beyond the Fringe’, which lampooned leaders. These became so popular that some satirists, notably Peter Cook, moved their reviews to the West End of London where they attracted wide audiences. By the early 1960s leading exponents were appearing on TV. The programme That Was The Week That Was, known as TW3, first appeared in 1962 and made presenters such as David Frost household names. When it was cancelled in the election year 1964, one reason offered was that voters might be too influenced by its content.


[image: ]





Replacement of Macmillan


The way in which Macmillan was replaced by Sir Alec Douglas-Home suggested antiquated methods and privilege. The method of replacing a Conservative leader was to sound out senior colleagues to ascertain who they would serve under; there was no semblance of democracy. The two most able candidates in 1963 were former Chancellor R.A. Butler and Lord Hailsham, a senior peer. However, a compromise candidate was chosen in Sir Alec Douglas-Home, then known as Lord Home, who had to renounce his peerage in order to serve. Although this was the final time a Conservative leader was appointed in such a way, it served to show how out of touch the party was with current changes in society.


The 1964 election


Labour won the 1964 election by an overall majority of four. Its leader Harold Wilson spoke of technological and scientific developments in terms of ‘white heat’. While the narrow victory suggested to some a falling off of support for the Conservatives rather than enthusiasm for Labour, many Labour candidates seemed more in tune with the times than the Conservatives.


General election results 1964






	Party

	Number of Seats






	Labour

	        317






	Conservative

	        304






	Liberal

	            9
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[image: ] Support or challenge


Below is a sample AS essay-style question that asks how far you agree with a specific statement.


Divide the statements into the following.





1  Those that support the statement in the question.



2  Those that disagree with the statement in the question.







‘By the early 1960s the Conservative government of Harold Macmillan was increasingly out of touch with developments in Britain.’ Explain whether you agree or disagree with this view.









	 

	
Support 

	
Challenge 






	The Conservative governments were very successful in winning elections during the 1950s, including that of 1959.

	 

	 






	The Conservatives had been in power since 1951 and were increasingly looking tired by the early 1960s.

	 

	 






	There were no women in government.

	 

	 






	People voted Conservative because Britain was prosperous and they did not trust Labour to maintain the economic successes.

	 

	 






	The Conservatives’ electoral victory of 1959 saw their overall majority increased from 58 seats in 1955 to 100 in 1959; this hardly suggests a government that was out of touch.

	 

	 






	Many members of the government were elderly and were not in tune with the changes that had been taking place in British society.

	 

	 






	Macmillan dismissed many of his cabinet in ‘The Night of the Long Knives’ in 1962 with the aim of making his government younger and more in touch. However, this simply served to emphasise the divisions within it.
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[image: ] Spot the mistake      [image: ]


Below is part of the answer to the question in ‘Support or challenge’ above. Why does this paragraph not achieve Level 4? Once you have identified the mistake, rewrite the paragraph so it displays the qualities of Level 4. The mark scheme on page 7 will help you.




[image: ]


The Conservatives governed Britain between 1951 and 1964 and won three elections in 1951, 1955 and 1959 so they couldn’t have been that much out of touch. If they had been people wouldn’t have voted for them. Nevertheless, people also voted for them because of the post-war consensus, a broad agreement between the three major parties about policies such as the maintenance of the welfare state and economic growth. People voted for them because they supported these policies. They did not vote Labour because Labour was split over, for example, defence spending. Besides this, Britain was prosperous and the Conservatives took credit for a successful economy. People didn’t feel Labour could be trusted to maintain this prosperity. The Conservatives were lampooned, however, in satirical magazines and they did look rather old and fuddy-duddy. The scandals did not help – the Minister for War was having an affair with a much younger woman. These factors helped to discredit the government but that doesn’t mean they were out of touch.
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Economic developments


The post-war boom


The period of Conservative government from 1951 to 1964 saw a period of economic growth and unprecedented rises in living standards. However, it also saw underlying problems that would resurface significantly in the ensuing decades.


Butskellism


There was little difference between Labour and Conservative views on the economy – policies were known as ‘Butskellism’, an amalgam of the names of the Conservative Chancellor of the Exchequer R.A. Butler (1951–55) and Labour Shadow Chancellor and future party leader Hugh Gaitskell. The aims were as follows.





•  Maintenance of full employment and economic growth.



•  Continued development of the welfare state.



•  Maintenance of defence commitments and nuclear weaponry.





The British economy grew as did others in western Europe as a result of Marshall Aid and the growth of exports. However, there were always problems with the following.





•  Balance of payments issues: Britain imported more than it sold abroad so its balance of payments was always in deficit (by 1961 to the tune of £95 million).



•  Britain could not afford to build a modern, competitive economy, develop the welfare state and maintain its defence commitments.



•  Growing inflation: people spoke of ‘stagflation’ – or continued price rises despite a downturn in the economy.



•  Industrial relations: as inflation grew, workers demanded pay rises in excess of price rises.





As a result of this Britain’s debts increased year on year – by 1957 they were £540 million and in 1964, £800 million.




[image: ]


British people had ‘never had it so good’


In 1957, Macmillan made his famous speech asserting the British people had ‘never had it so good’. While this was largely true, much consumer spending was on credit, and, while employment remained high, unemployment was nevertheless growing – from 367,000 in 1951 to 563,000 by 1958.
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‘Stop–Go’


Conservative chancellors followed a policy of ‘Stop–Go’. This meant the use of interest rates to control economic growth. When the economy appeared to be growing too quickly, interest rates would be raised, making the cost of borrowing more expensive and reducing demand. When the economy slowed, however, interest rates would be cut, making credit cheaper and creating an increase in demand.


However, as elections approached budgets were manipulated to win more support. Hence in the 1959 budget, the Chancellor introduced tax cuts so people had more to spend – although he should have raised interest rates to reduce spending in the face of growing inflation.


Experts could increasingly see problems with the economy – indeed Macmillan’s entire team of Treasury Ministers resigned in 1957 over ‘Stop–Go’ measures. They wanted to reduce government spending, for example, on welfare.


Planning economic growth


The government preferred to promote economic growth. In 1961 it set up two organisations to develop a planned economy:





•  National Economic Development Council (NEDDY) in which representatives of employers, unions and government planned growth



•  National Incomes Commission (NICKY) to regulate wage demands.





In July 1961, the Government announced a ‘pay pause’ in the public sector to try to curb excessive pay demands throughout the economy. However, they gave in to demands from electricity workers who were threatening strikes, and the ‘pay pause’ was effectively a non-starter.


The economy in 1964


By the 1964 election, problems were more apparent. Unemployment had risen to 800,000 in 1963. Chancellor Reginald Maudling adopted a free-spending budget, reducing interest rates and cutting taxes to try to reduce the levels of unemployment. Although the measures saw unemployment fall to 500,000 by 1964, the budget deficit was £800 million. The Government had tried unsuccessfully to join the European Economic Community, which was enjoying growth rates far in excess of those in Britain (see page 18).
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[image: ] Identify relevant content


Examine Source A. Note down the content in the source that is relevant to answering the question below.




With reference to these sources and your understanding of the historical context, which of these two sources is more valuable in explaining how far Britain was prosperous by the late 1950s?
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SOURCE A


From Macmillan’s ‘Never had it so good’ speech at Bedford, 20 July 1957, to Conservative supporters


Let’s be frank about it: most of our people have never had it so good. Go around the country, go to the industrial towns, go to the farms and you will see a state of prosperity such as we have never had in my lifetime – nor indeed in the history of this country. What is worrying some of us is ‘Is this too good to be true?’ or perhaps I should say ‘Is it too good to last?’ For amid all this prosperity, there is one problem that has troubled us … It’s the problem of rising prices. Our constant concern today is – can prices be steadied while at the same time we maintain full employment in an expanding economy. Can we control inflation? This is the problem of our time.
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[image: ] Identify the significance of provenance


Now look at Source B. Still using the same question as in the first activity, comment on Source B’s reliability. You should consider issues such as:





•  who the author is and how authoritative she may be about the events she is describing



•  when the source was produced and how distant it is from the events it describes



•  the author’s purpose.
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SOURCE B


From Jennifer Worth, Call the Midwife, a memoir of a midwife working among the poorer classes in the East End of London in the 1950s; Worth was concerned that there were few accounts of the work of midwives in literature. The memoir was written in part to redress the balance.


By the 1950s most houses had running cold water and flushing lavatories in the yard outside. Some even had a bathroom. The tenements however did not, and the public wash-houses were still very much in use. Grumbling boys were taken there once a week to have a bath by determined mothers. The men, probably under female orders, carried out the same weekly ablution. You would see them going to the bath house on a Saturday afternoon with a small towel, a piece of soap, and a dour expression, which spoke of a weekly tussle once again waged and lost.


Most houses had a wireless but I did not see a single TV set during my time in the East End, which may have contributed to the size of the families.
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Social and cultural developments



Rising living standards: the impact of affluence and consumerism


Living standards rose during the 1950s as never before for many sectors of society.


It was an age of consumerism, often fuelled by credit. Many bought items on hire purchase, with a deposit followed by weekly payments. Car ownership grew significantly from 3 to 7 million, and many could afford domestic appliances such as vacuum cleaners, washing machines, cookers and refrigerators for the first time. National television developed, with the number of sets growing from 340,000 in 1951 to 13 million by 1963. TV revolutionised many people’s social lives as they preferred to stay at home and watch programmes rather than go out, for example, to the theatre or cinema.


The position of women


The 1950s is commonly seen as a regressive age for women, largely tied to the home and childcare. Career opportunities were often limited – for example, to light factory or clerical work.





•  Most professional women became nurses, teachers or office workers.



•  Women on average received 40 per cent less pay for doing the same jobs as men, although there were some changes – the civil service, for example, introduced equal pay in 1958.



•  In schools, expectations of girls tended to be low, with some concentration on subjects such as domestic science to prepare girls for their anticipated role in life.



•  Less than 2 per cent of women went to university during the 1950s.





Nevertheless there were changes afoot with, for example, Maureen Nicol beginning the National Housewives’ Register to bring women closer together, and Dora Russell organising a peace caravan to protest against nuclear weapons. These women acted as role models for many who sought more than domesticity.


Class and the establishment


Britain was still seen as dominated by class. The Conservative government itself, composed largely of wealthy, privileged males, seemed to reflect the enduring power of the establishment. However, things were changing.





•  The Second World War had seen some levelling of society and had engendered a sense of ‘all being in it together’.



•  The creation of the welfare state and the National Health Service under the Labour governments of 1945 to 1951 had led to significant improvements in well-being and raised the expectations of the less well-off.
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